| number of missing inner layers | number of missing outer layers
missing_inner_layers missing_outer_layers
1g Entries 480382 1g Entries 480382
E Mean 0.03911 Mean 1.192
r Std Dev 0.2106 Std Dev 1.855
1] B B B 1] u B
107 | _missing_inner_layers 107 missing_outer_layers
E Entries 486915 E Entries 486915
r Mean 0.04189 r Mean 1.167
_ Std Dev 0.2166 _ Std Dev 1.834
1072 R 107 :
F missing_inner_layers F missing_outer_layers
- Entries 425939 - Entries 425939
3 | Mean 0.05661 3 Mean 1.694
10°F Std Dev 0.2456 107°F Std Dev 2.133
: T T ] : : [
I missing_inner_layers o missing_outer_layers
—4 L Entries 1@3828 —4 L Entries 485828
10 E Mean 04253 10 E Mean 1.173
o Std Dev 0 2182 o Std Dev 1.846
10—52_ serrdeesedeeecdeen 10—52_ ......... Hoeeeenees
91ne_....l....l....l. T T .91075 | |
o I SR S
= ) I R T PR
= . . [ ™ .
0 1 2 0 20 25
—— SSW_CKI__RECO
=== DQM_V0001_R000000001, Global CMSSW_mkFitOriginal__RECO
mean hif === DOM_V0001~R000000001 _Global __CMSSW_mkFitLowPtQuad__RECO
= DOM_V0001_R000000001__Global__CMSSW_mkFitLowPtTriplet__ RECO
— 20r 10— R CE e ~ Entries 280382
0 o E Mean 11.85
> 18 C
/U\) -
= 4 -
£ 16 10°E
Y E
14 r
3
12 10°F
10 N
10°F
E Entries 485828
- lean 11.97
10 Std Dev. 6.808
1 o
g g 1 P
@ @ [
v a4 F :
15 S S S
ok .
0 5 10 15 20 25 30 35 40

num_simul_pT
Entries 144536
| A Mean 2.095
lo Std Dev 6.135
: |

num_simul_pT
1 R S, S Entries 144536
107°E Mean 2.095
C Std Dev 6.135
N : I

3 B num_simul_pT
10 P i tries 144536
= Medn 2.095
C Std 6.135

e s e num_simul_pT.
10 _E Entries 144536
o Mean 2.095
L Std Dev. 6.135

[Nofreco track vs pT |

track hits
num_reco_pT
Entries 536102
Mean 0.4488
Std Dev 0.8728
""" AR
num_reco_pT
Entries 539594
Mean 0.4471
Std Dev 0.8196
: |
num_reco_pT
Entries 485546
Mean 0.4576
Std Dev 0.8178
num_reco_pT
°| Entries 537713
Mean 0.4481
0.8195

td Dev.




	Contents
	Page 1


